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Name: Student ID:

This quarter we did not cover nucleic acids
in lecture. Let’s combine everything we
have learned in 14C to determine structural
characteristics of nucleic acids and their N

. . . . . Chemical Formula: CsHsN5 Chemical Formula: CsHsNsO
derivatives. Four nucleic acids incorporated Adenine Guanine
in DNA are given in the box.

s
NH, ‘DQ_T(

1. (12 pts) Circle the first letter of the nucleic acid (A,
G, C, or T) that correctly answers the statement. If
none of nucleic acids answer the question, circle
none. If there is a tie, circle as many of the nucleic
acids that meet the requirement.

Chemical Formula: C;HsN;O Chemical Formula: CsHgN,0O,
Cytosine Thymine

Nucleic acid(s) with the most delocalized pi electrons: A T C @ none

Nucleic acid(s) that is/are aromatic: & &) © © none

Nucleic acid(s) capable of being a hydrogen bond donor and acceptor: & © © (G none
Nucleic acid(s) which has/have chiral carbons: A T C G

Nucleic acid(s) with the least delocalized pi electrons: A @Q G none

Nucleic acid(s) with the lowest M+1 intensity: A T @ G none

S0 Qa0 oo

2. (4 pts) Draw a resonance structure of adenine that is significant as possible; include all lone pairs and
formal charges.

o
I I‘\‘) 4\7 ’,

N Ny oo /“ N
</N |jN> <C\) N\ 'J

N

3. (10 pts) For cytosine, answer the questions (a-e).
(10 pts) y q (a-e) ®H,
a. Circle all the conjugated atoms in the structure.
b. Name three functional groups in the molecule: ’,
alkene ,aming, am:'0(€
c. How many lone pairs are in the molecule? =2 L;_ ‘Elb ‘@
d. How many sp® N atom(s) is/are in the structure? O
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e. How many N atom(s) have a nonzero formal charge?




4. (18 pts) Before being incorporated into DNA, nucleic acids are bonded to a sugar molecule to become
nucleosides. Answer the following questions (a-g) for ribothymidine given below:

OH OH

a. Circle the anomeric carbon in the sugar portion of ribothymidine.
Is the nucleic acid bonded through an a or 3 glycosidic linkage? Circle o on@

c. Give the full name of the sugar molecule incorporated in ribothymidine (note: this should have
three pieces of information in the name): D- bo-FuvaI/] DS €

d. What is the strongest noncovalent force in ribothymidine? _H - bona{inq

e. How many chiral carbons does ribothymidine have?

f. Afellow student proposes the following structure for ribothymidine. How would you convince
this student, using structural characteristics learned this quarter, that the structure is incorrect?
Answer in 30 words or less. H

- (@) N (0]

This Shuchve  is not aromabe, b
’/h/\US ha¢ = ]/\-'7L\_,QI/ Wj7Ho

ond 'S oan un],’ke/; C onnechon,

OH OH

g. Using our zone analysis, what stretches in the IR could you use to determine the difference
between ribothymidine and thymine? Explain your reasoning in 20 words or less.

Zone | OH Sﬁlt‘foﬁwj

5. (8 pts) Draw two isomers in the boxes below for C4H11N; one isomer with two signals in a NMR
spectrum and one with five signals in a NMR spectrum. Your molecule should have zero formal charge.

Two signals in NMR 5 signals in NMR
f_
NH,

DW QV)S ng a CCW&K Page 2 score
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Using the foIIowirl\g molecules (A[ ) to answer questions 6-8. | '3 ‘
T-H M B3 ey v ey C-2 "H-2
\ H
A i o A H
_ H J o
| ¥l \j\/o Z a M H
H ! \ v I~H y =1
« OH ¥ H H L H //
A BT Y C D F
2z
Zowre 12,5 Zove 2,4 Zowe 2,5 Zona
6. (2 pts) Which type of isomers are these compounds? __ Con<h tv 1 bre [

7. (16 pts) Put a check mark in the box that answers the statement correctly. If there is a tie, check as
many boxes as needed. If none of the molecules fit, check ‘none’.

Molecule
A

Molecule
B

Molecule
C

Molecule
D

None

Molecule with the highest boiling point.

v

The molecule(s) having proton(s) whose *H-NMR
chemical shift(s) is/are influenced by magnetic
induction.

vV’

-

%

The molecule(s) having fewest number of *H-NMR
signals in its spectrum.

The molecule(s) whose IR spectrum has peaks

appear only in zone 2 (excluding fingerprint region).

The molecule(s) having highest number of *H-NMR
signals in its spectrum.

The molecule(s) having highest number of 13C-NMR
signals in spectrum.

v
v

The molecule(s) whose IR spectrum has peaks
appearing in 4 zones (excluding fingerprint region).

\/

The molecule(s) having equal number signals in
13C-NMR and *H-NMR spectra.

v

v

v

8. (4 pts) If you only had a limited sample of molecules A-D, which spectroscopy technique would you not
use to gain information about the sample. Answer choices: mass spectrometry, infrared spectroscopy,
'H-NMR, and 3C-NMR. Explain your reasoning in 20 words or less.

/\/\oss Jdpcc—,&g—{\,o% He Sa,,v,bo(a

9. (4 pts) In which of the following methods does a magnetic field play a role in acquiring data about a
sample? Circle all of the answer choices that apply.

@ infrared spectroscopy @
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Relative Intensity

10. (10 pts) Name the peaks (a-d) for the mass spectrum below.

100+

HS-Ni-1583 Identity of peak
b a. A<aGment ion
80 v
c b __boage peak
60 d I

C. VMoLa(uIm/ IDn I/ﬂ(é?lé
; d. M*Z lpeak

e. Circle the atom this compound contains:

IS
=}
1

20—

0 T

= > " 120/2 e 0 7 S Cl cannot determine
Ms2 ~/00% oF M

11. (10 pts) For the following molecule, predict the NMR splitting and integral for each Ha-c in the box
below. Example for an equivalent H set: Hy & Hy = doublet, 2.0.

Splitting and Integration:
M, - S’/vlecjr/ l. ©
Hyo¢ . ° S)ij’f-‘r,
HY o Triplet, .0
e ‘\'V\p’f"/ /. ©

2.0

a. Which is the most deshielded H? CircI Hp Hc Hg He cannot determine

12. ( 10 pts) For the IR spectrum below, circle the compound that correct matches the spectrum and label

stretches on the IR spectrum present in zones 1-5 you used to make the determination.
(@]
i‘)\lH
AN
OH
(0]

LoD

TRANSHITTANCEI %1

(e}
/éo
HoN
HO
1685 cm'!
0 T T T T T T T
4000 3000 2000 1500 1000 500
NAVENUNBER! 1|
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Name: Student ID:

13. (42 pts) Deduce the structure that

corresponds to the spectral data on the

following pages. Write your final 0 C \)( g C \’\ £
answer in the box. A correct answer is I / l - U
worth full credit. If the answer is /( N l\) c— C - C —
incorrect, your analysis of the spectra C/ — C - |

can be worth significant partial credit, \\

so show your work clearly in the space 3
below each set of data only. Answers
outside of these places will be ignored.

(5 pts) Mass Spectrum: m/z = 168 (M; 100%) m/z = 169 (9.7%), and m/z = 170 (0.3%). No F or I.

even NV:0,2,d Mr|: 22% g erae Mi2¢9%

1. 17 /"’SC(,é
l(oﬂaﬂm./ - {ﬂx12q~u>= O aveu U/&,H 4 Vv
RO LO-O-IVFH  fomula  aekec
o O LO-0-0=bO Cc} /_Léo violates H rule
| O bl-lb-0 = YY Cq{—l,_/qD 11
2 O Q‘)/-@Z—O: Z% CC,HZQOZ 1
% O (9/-“/3'0:/2 Co/'L/IZ OS l//DSSIb(e
6 2 Ll-0 -2 83> (c; ng /l/Z w1olotes Hwlo
| 2 bl-16-29=1bC, H, N, 0 Lic NMRE

22  W-37-2%7 9 CiMN,0, MNMR shews H
DY  Ll-D-Fb D Catg My possible

C /\/ O Write in the box one formula that is consistent with the MS and is not
| [’Jr e 2 rejected due to other reasons.




LoD

TRANSHITTANCE! %1
@
o

IR workspace:

b ya
o G- el 23
(10 pts) IR:
l
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0
/" ] . D
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(
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Name: Student ID:

Anything written outside the boxes on this page will be ignored. Write only *H-NMR implications in
the *H-NMR boxes.

(15) *H-NMR:
Chemical Shift Splitting Integral #H  Implications
2.9 ppm Singlet 3.0 N_Ch—
n= 0O
—CH
CH,
2.7 ppm Triplet 2.0 C_/J"\_Z C [4 2 o CH-
o/
N1 2 X C_l»_ICL/Z
2.3 ppm Singlet 3.0 /__Cig_
N0
/LL CH
1.8 ppm Triplet 2.0 C HQ CHL o giz
- H
Nn-1 oy ¢
ZX&B CHZ
/_C/\/\?“
1.4 ppm Singlet 6.0 \
-0 C 4l
ne =3

CH 3 JrClJrL-P CH34 (HZ 42x(4!3
o C—bH/b



Blank space for assembling molecule: ©

/1
Atoms check: C”{ H/L,NZO— C(’H/Q—C—/U - ZC/ —‘LM ‘P—I—
DoU check: ‘7 _ _ — 1 & pul 2 C leftae
S- =2 =C .o CEN %usir b (=N

w1

O

\I
W Q'C/N

< CHg

(\}&OOKV\Vlb'\/ 5’/\)&[/0 czl

faen MR wodd e
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